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- _ _ SN E N
SN M. HA(SH) - HEAMY - BHES 01 AtoH 0 A o8 Hlns2t
St PR 4,887,662 5,792,725 A 905,063
= 810,078
| 1,163,200
& 2,914,384
NS EdEs2xs8s 235 4,679,812 5,584,375 A 904,563
= 810,078
| 1,163,200
= 2,706,534
ASHAXTES JIBEF 4,679,812 5,584,375 A 904,563
= 810,078
J| 1,163,200
= 2,706,534
1192 2 &l &= 1,229,000 1,020,200 208,800
= 614,500
= 614,500
405 Kot S| 1,229,000 1,020,200 208,800
= 614,500
= 614,500
01 MU SEZ3F S| 1,229,000 1,020,200 208,800
OREHH =5 1,229,000
—UB AR P 480,000
= 240,000
& 240,000
~HE AR R 40,000
= 20,000
[ 20,000
-JHel 2 Z &I 99,000
= 49,500
= 49,500
~AU R IEY|(9F) 75,000
= 37,500
= 37,500
—4her 1 R EH| 48,000
= 24,000
& 24,000
S I2REHI(11E) 268,000
= 134,000
& 134,000
~CH R R =X & 120,000
= 60,000
& 60,000
SRS SYsE 99,000
= 49,500
& 49,500
119722 xAH 2EXA 1,944,000 858,000 1,086,000
| 943,200
& 1,000,800
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201 Yereg| 144,000 0 144,000
| 43,200
= 100,800
01 AtR2elt] 144,000 0 144,000
OSZARNCHH 75 144,000
-S2YARYA R22Y 144,000
| 43,200
= 100,800
405 X+aHE S| 1,800,000 858,000 942,000
| 900,000
= 900,000
01 XYL SEF S| 1,800,000 858,000 942,000
011972 ZH 7Y 1,800,000
-~ g at 900,000
| 450,000
= 450,000
~SHETSNAME FH2Y 300,000
| 150,000
= 150,000
-z el FylTY 600,000
| 300,000
= 300,000
USTEYD 29 3,000 2,400 600
203 YREX| 3,000 2,400 600
03 AIBZZHREAY| 3,000 2,400 600
OYEPFAHEX 3,000
USE MAI 2T 174,100 97,100 77,000
201 Ygreg| 111,000 52,000 59,000
01 AtR2elt| 36,000 0 36,000
ONAASBAIITHEl & 36,000
03 A2 Y| 75,000 52,000 23,000
OS82 J=LAHS 40,000
ONAALZAIIUE 2 35,000
206 M=l 6,100 6, 100 0
01 T2l 6,100 6,100 0
OASPEEY 42F 6,100
301 YerBAZ 57,000 39,000 18,000
10 SAFAIHI A 57,000 39,000 18,000
CEE=FEIIPIEE-T-1v] 37,000
OMMAZRAIIHE &t 20,000
AHETH 2 470,850 3,407,700 ~2,936,850
201 Yereg| 425,550 3,396,500 £2,970,950
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_ MuE o
SA M SR(B) - MBAY - BES Of) &b o il o o Hns2
02 T2l 425,550 3,396,500 ~2,970,950
OAgEI| S 332,000
OASEI| FHIIZA 39,500
Ot RN 54,050
206 T 2H| 1,200 1,200 0
01 M2l 1,200 1,200 0
ORI A2 7Y S 1,200
401 AEHILR ] 40,000 0 40,000
01 A& 40,000 0 40,000
O#II0f %2 20,000
OB JIWSSAIAE M| 20,000
405 RHAHE S| 4,100 10,000 A5,900
01 Xtard 223 S| 4,100 10,000 £5,900
OIU2Y 227 4,100
AT SN 107,112 80,875 26,237
= 45,578
= 61,534
01 YPRAZ 65,112 30,875 34,237
=2 45,578
= 19,534
12 JIEHB A2 65,112 30,875 34,237
ONBISXAIZH 29 65,112
-BEIA= 27,977
=2 19,584
= 8,393
-2 5,245
=2 3,672
= 1,573
-22329Y| 4,783
= 3,352
= 1,436
-DS0E 2 S 27,102
= 18,970
= 8,132
308 XHXISHHISOIH 15,000 50,000 35,000
01 IXSHBLLETS 15,000 50,000 35,000
O84S 2% X 15,000
403 RXISHSKHZO0|H 27,000 0 27,000
01 XXISHA=EE 27,000 0 27,000
Oolgsull 29 N 27,000
SWEA M2 =X 6,250 46,900 40,650
206 T 2H| 2,250 3,900 A1,650
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